siojedipuj uonisod
19 suwisjue] JleH

-/840

tecparts

-800-328

—




Hall Lanterns & Position Indicators

Notes About This Catalog Section

Terminology, Sizing Standards, and Use

» The primary measurements shown for parts are based upon their design
drawings.

> Most measurements are provided in both Imperial units (for the United States)
and metric units (for Canada, Mexico, etc.). If only one form of a measure-
ment is provided, assume Imperial units (generally inches) unless otherwise
stated.

» Most Imperial measurements are rounded to the nearest tenth or hundredth
of an inch and most metric measurements are rounded to the nearest mil-
limeter.

S
Ny
o=
o

=Yy
S =
o ®
—
o=
D @
g @
(7]

> Theterm “vintage” refers to the period of time in which the original equipment
was manufactured. If installation records are not available, the vintage of a
component may be determined from a vintage tag affixed to the component.
Shown below are two types of vintage tags used on Otis equipment over the
years.

14| 6161R

Y |VINTAGE Y 01
REV | EN

14 | R-AAA24179A

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625 -



=
o3 S
wn©
I— )
| T
eT
gE
-5
==
x &
o.

Hall Lanterns & Position Indicators

Table of Contents

Notes About This Catalog Section 1
Hall Position Indicators 3
Hall Panel Instrument, Multi-Light: Type AAA25250B........cccccoeveeeveeenencccncnce 3
Hall Position Indicator, Advanced Raised Assembly: Type 7069AN..................... 4
Hall Position Indicator, Multi-Light, Square Fixtures: Type 6651F...........ccccceueee. 5
Hall Position Indicator, with LED Jewel Module: Type AAA23600A..................... 6
Hall Position Indicator: Types AAA6646AAA and 6646EF ... 7
Landing Fixture Hall Position Assembly, with Flat Display: Type AAA23600X..... 8
Landing Fixture Hall Position Assembly, with Flat Slim Display:
TYPE AAA23600AB.......c.co ettt 10
Landing Fixture Hall Position Assembly, with Large Flat Display:
TYPE AAA23600Y ... "
Hall Lanterns 12
Advanced Hall Lantern and Position Indicator: Type 6646EG .............ccevunn... 12
Advanced Hall Lanterns for 30-Volt Applications...........cccccueuruveccueurinenccuernenen. 13
w/0 Remote Station (with Faceplate): Type 6646EE..........cccccovevrrrreerennne. 13
w/o Remote Station, Intermediate Landing: Type 6646EB ..............c.......... 14
w/o0 Remote Station, Terminal Landing: Type 6646DY ........cccovueeeerereenncn. 15
Hall Lantern Assembly: Type AAA23550L........cccccveiiiiieeicccceeeeeeaeene 16
Hall Lantern (with Faceplate): Type AAAGGAGAAD..........covevureereeeereersieeeeneene. 17
Hall Lanterns for Modular CONtrol..........cccueuriececuruniniceceeininececienineccneeeeneeaes 19
Hall Lantern and Position Indicator (with Remote Station):
TYPE AAABBABAAE ...ttt 19
Hall Lantern, Intermediate Landing (with Remote Station):
TYPE AAABBABAAC ...ttt 20
Hall Lantern, Terminal Landing (with Remote Station):
TYPE AAABBABAAB ...ttt 21
Hall Lantern and Hall Station Indicators:
TYPE AAABBABEL ... 22
Hall Lantern: Type 6646DS..........cccovrieiiirireeeenirececeete et 24
Hall Lantern, Slim Series 5 Fixture: Type AAA23550T....c.coeevnnnccncnininiennes 26
Hall Lanterns and Hall Position Indicators: Type 6646CY = AAA6646FA......... 27
Hall Position Indicator Assembly: Type AAA23600P..........coccecevevireencnenennenne. 32
Landing Fixture—In-Car Lantern Assembly: Type AAA23550U ........ccccceuvurueneee. 33
Pictorial Catalog: FACEPIGLES ........ccourirueveuiriririeiecirire s 34
SPAME PAItS ...ttt 49
INdex Listing: FACEPIALES .....ccveveveeririeiereiiiieieieeteeteieeet ettt ens 50

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Hall Position Indicators
Hall Panel Instrument, Multi-Light: Type AAA25250B

Part Number Description
174GV3 Cable Assembly
AAAT47NX10-__*  Faceplate

Lamp, 6.3 V (used w/PC Board

424R3 AAA26300PB2)
Lamp, 14 V (used w/PC Board

424R2 AAA26800PB1)

424R1 Lamp, 28 V (used w/PC Board 8200JA1)

Lens, Type 443CB
Mask, Type 449B]
A396JN1 Panel, Housing
AAA26800PB2 PC Board, 6 V Application
AAA26800PB1 PC Board, 12 V Application

8200JA1 PC Board, 30 V Application
GFA23550D10  PC Board, RS5 A396)N1
174DD11 Wire, Ground

Add material/finish designation:
BR7 = Brushed Brass

BR8 = Mirror Brass

SS4 = Brushed Stainless Steel
SS8 = Mirror Stainless Steel

GCA23550D1
_-A396)N1

AAA26800PB1
K 174GV3 AAA26800PB2

/ 8200JA1

Mask Type 449B)

¥, !"
AAA1 47NX10-__
424R1 Qﬂ&
424R2
424R3 Lens, Type 443CB
-

174DD11/ Sy

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625

-
)
«
=
o
=]
S
=
o
-
=h
S
q
«

==
=)
F
(<)
-
=
(1°]
q
-
%)
o



Hall Lanterns & Position Indicators

Hall Position Indicator, Advanced Raised Assembly:
Type 7069AN

Part Number Description
Faceplate, Type AAAT47NX-
AAA147NX9-BR7 Faceplate, 1-Module, Bronze, w/ screws
AAAT47NX9-SS4 Faceplate, 1-Module, Stainless Steel, w/ screws
AAAT47NX10-BR7  Faceplate, 2-Module, Bronze, w/ screws
AAAT47NX10-SS4  Faceplate, 2-Module, Stainless Steel, w/ screws
AAAT47NX11-BR7  Faceplate, 3-Module, Bronze, w/ screws
AAAT47NX11-SS4 Faceplate, 3-Module, Stainless Steel, w/ screws
A396)N1 Housing, Faceplate
Jewel Module, Type 7069AG
Mask, Type 449B)
ISO4027M3X8-45H-Z  Screw, Cone Point Set, M3 x 8 mm

=
o3 S
»n ®©
I— )
P —_—
eT
gE
-5
==
=
o.

A396]N1\
AAA147NX9
AAATATNXT0
Type AAAT47NX
r-‘q_“"'-—_._‘q_‘ ﬁ;,"—'? |
Mask, |
Type 449B)~__ T
&
r% | {‘_‘

Type 7069AG

© Unitec Parts Company, 2012



Hall Position Indicator, Multi-Light, Square Fixtures:

Type 6651F

Hall Lanterns & Position Indicators

Part Number Description

6644A2

Assembly, Lamp Receptacle. For individual connection.

Assembly, Lamp Receptacle. For individual connection. Includes

2226A1 fastenings. Consists of: 1 lamp receptacle assembly (p/n 6644A2), 1
insulating barrier, 1 plate, and hardware

6644A3 Assembly, Lamp Receptacle. For single bus bar connection.
Assembly, Lamp Receptacle. For single bus bar connection. Includes

2226A2 Fastenings. Consists of: 1 lamp receptacle assembly (p/n 6644A3), 1

rivet, 1 insulating barrier, 1 plate, and hardware

- ® 006 0 0 ¢ INEHEEDE -
Type 6651F: 499AE round jeweled fixture Type 6651F: 499AD square jeweled fixture
Qgﬁl ..f"'-“l Bus Bas (Fal.)
| Gl
4 J
..- . .
. S ,f‘" LN
‘::& l{ L-"'( -,_._'J:-?I:E Q{: E‘“_\ !l '.I
B / S
L
“ﬁf?fg e ﬂ"ql{?
2226A1 %ﬁ ®p
Bus Bar (Fadl.)
) M 2226A2
£ |'III|.'I. P - B Ifl
i A {ﬁ
%E?é%k{e@ SO 0
™ ey “”,JQ
W
664.14A3 6644A2

© Unitec Parts Company, 2012

www.unitecparts.com

1-800-328-7840 Fax: 860-286-1625

-
)
«
=
o
=]
S
=
o
-
=h
S
q
«

==
=)
F
(<)
-
=
(1°]
q
-
%)
o




=
o3 S
»n ®©
I— )
P —_—
eT
gE
-5
==
=
o.

Hall Lanterns & Position Indicators

Hall Position Indicator, with LED Jewel Module:
Type AAA23600A

Part Number

Description

AAAT47NX2-BR7

Faceplate, 1-Module, Bronze

AAAT47NX2-MF4

Faceplate, 1-Module, Stainless Steel

AAAT147NX3-BR7

Faceplate, 2-Module, Bronze

AAAT47NX3-MF4

Faceplate, 2-Module, Stainless Steel

A396)N1 Housing Panel w/Insert
124DK26 Screw, Spanner Head, M3.5, 15 mm L, Bronze
124DK25 Screw, Spanner Head, M3.5, 15 mm L, Stainless Steel

A396JN1

AAAT47NX2-

/ AAA147NX3

124DK25
124DK26

n © Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Hall Position Indicator: Types AAA6646AAA and 6646EF

Part Number
AAA6646AAA 6646EF Description
72BX7 72BX7 Clip
354AG99 Distance Piece
147MT2 147MT2 Faceplate, Brass, Brushed Finish 'QU -
147MT4 147MT4 Faceplate, Brass, Mirror Finish ‘£ -
147MT1 147MT1 Faceplate, Stainless Steel, Brushed Finish S -
147MT5 147MT5 Faceplate, Stainless Steel, Mill 4 Finish i g
147MT3 147MT3 Faceplate, Stainless Steel, Mirror Finish g_ 1
443CC1 443CC1 Lens e
ACA26800H)1 ACA26800H)1  PC Board, Position Indicator L
GFA23550D10 PC Board, Remote Station - 5 S @
124DK2 124DK2 Screw, Spanner Head, Brass, Brushed Finish @
124DK1 124DK1 Screw, Spanner Head, Brass, Mirror Finish
124DK14 124DK14 Screw, Spanner Head, Brass, Mirror Finish
124DK13 124DK13 Screw, Spanner Head, Stainless Steel, Mirror Finish
462GV1 462GV1 Spacer
462GV4 462GV4 Spacer

i
i 462GV4
354AG99

/ACA26800HJ1
/443cc1

147MT1-

/ 147MT5

a,

n.\.

/’If;l-[,)-l.(_:\;;;;/

124DK2
124DK13
124DK14

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



Hall Lanterns & Position Indicators

Landing Fixture Hall Position Assembly, with Flat Display:

Type AAA23600X
Part Number Description
AAAT75ABY1 Conductor (Not Shown)

AAA374YU998-GOLDB  Frame, Brass, Brushed

2 AAA374YU998-GOLDM  Frame, Brass, Mirror
°3 % AAA374YU998-SSB Frame, Stainless Steel, Brushed
co AAA374YU998-SSM Frame, Stainless Steel, Mirror
i) -g AAA443EP1 Lens
g : AAA124HE2 Screw, Tamperproof, M4, Brass, Brushed (GOLDB)
:' =) AAA124HE4 Screw, Tamperproof, M4, Brass, Mirror (GOLDM)
e ‘5; AAA124HE1 Screw, Tamperproof, M4, Stainless Steel, Brushed (SSB)
== no_ AAA124HE3 Screw, Tamperproof, M4, Stainless Steel, Mirror (SSM)

AAA124HE1-
AAA124HE4

AAA374YU9980-SSB

/AAA374YU9980-SSM
AAA374YU9980-GOLDB
AAA374YU9980-GOLDM

/ AAA443EP1

n © Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Part Number Description
AAA629AS100 Cover, OPTO Device
PC Board, Discrete.
ABA26800AKMT Includes: Landing Passing Tone, Position Indicators, and Jewels
ABA26800AKM2  PC Board, Discrete. Includes: Position Indicators
PC Board.

-0
<)
Includes: Direction Arrows, Landing Passing Tone, Position Indicators, and Jewels @K, g:,:
NOTE: Part is obsolete. Call UNITEC for additional information. g- -_
PC Board. S5
AAAZ6800AGP2 Includes: Landing Passing Tone, Position Indicators, and Jewels 5 =
AAA26800AGP3  PC Board. Includes: Position Indicators %g
AAA23600X501 PCB, Discrete p/n AAA26800AKM2, with “Fire Hat” and “Please Exit” Symbol Masks Q
and a Cover, French =] 0
. . “p: ”» « PR (7]
AAA23600X503 PCB, Discrete p/n ABA26800AKM1, with “Fire Hat” and “Please Exit” Symbol Masks
and a Cover, French
AAA23600X500 PCB, RSL p/q AAA26800AGP1, with “Fire Hat” and “Please Exit” Symbol Masks and
a Cover, English
AAA23600X502 PCB, RSL p/n AAA26800AGP2, with “Fire Hat” and “Please Exit” Symbol Masks and

a Cover, English

AAA26800AGP1-
5 AAA26800AGP3,

/ABA26800AKM1—
', ABA26800AKM2

/ AAA23600X500-

/ AAA23600X503
i

AAA629AS100

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625 n



=
o3 S
wn©
I— )
| T
eT
gE
-5
==
x &
o.

Hall Lanterns & Position Indicators

Landing Fixture Hall Position Assembly,
with Flat Slim Display: Type AAA23600AB

Part Number Description
AAA308WR9 Box
AAAT75ABY1 Conductor (Not Shown)
AAA629AS100 Cover, OPTO Device
AAA374Y7998-GOLDB  Frame, Bronze, Brushed
AAA374Y7998-GOLDM  Frame, Bronze, Mirror
AAA374Y7998-SSB Frame, Stainless Steel, Brushed
AAA374Y7998-SSM Frame, Stainless Steel, Mirror
AAA443EST Lens
ACA26800AGU1 PC Board
AAA23600AB500 PC Board, RSL, with “Power” and “Car to Lobby” Masks, and Lenses, English
AAA23600AB501 PC Board, RSL, with “Power” and “Car to Lobby” Masks, and Lenses, French
AAA124HE2 Screw, M4, Tamper Proof, Bronze, Brushed (GOLDB)
AAA124HE4 Screw, M4, Tamper Proof, Bronze, Mirror (GOLDM)
AAA124HET Screw, M4, Tamper Proof, Stainless Steel, Brushed (SSB)
AAA124HE3 Screw, M4, Tamper Proof, Stainless Steel, Mirror (SSM)
AAA23600AB500
AAA23600AB501
AAA124HE1- \

AAA124HE4 s
AAA374Y7998-SSB [
AAA374Y7998-SSM \

AAA374Y7998-GOLDB '
AAA374Y7998-GOLDM

AAA443ES1

AAA308WR9

i
¥
y
%
&
5
5,
™ =

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Landing Fixture Hall Position Assembly, with Large Flat Display:

Type AAA23600Y
Part Number Description
AAA175ABY4 Conductor

AAA374YW998-GOLDB  Frame, Bronze, Brushed

-
AAA374YW998-GOLDM  Frame, Bronze, Mirror 2. n:la:
AAA374YW998-SSB Frame, Stainless Steel, Brushed g- —
AAA374YW998-SSM Frame, Stainless Steel, Mirror =
AAA443EQ1 Lens = =
AAA23600Y500 PC Board, RSL, Including “Next Stop” Mask, Lens, Tape, and Transducer =
AAA124HE2 Screw, M4, Tamper Proof , Bronze, Brushed (GOLDB) 8 a
AAA124HE4 Screw, M4, Tamper Proof, Bronze, Mirror (GOLDM) §: 0
AAA124HE1 Screw, M4, Tamper Proof, Stainless Steel, Brushed (SSB) v
AAA124HE3 Screw, M4, Tamper Proof, Stainless Steel, Mirror (SSM)
AAA297BK2 Tape, Adhesive
AAA655D1 Transducer, Communications (w/o0 AAA297BK2 adhesive tape)
AAA374YW998-SSB
AAA374YW998-SSM R NCRR AT Tl
AAA374YW998-GOLDB I
AAA374YW998-GOLDM

AAA443EQ1\

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



Hall Lanterns & Position Indicators

Hall Lanterns

Advanced Hall Lantern and Position Indicator: Type 6646EG

NOTE: Please call UNITEC for more information and parts availability.

2
o3 2
\n ©
[ =)
D ¥
2'5
%E
-
=
T3
o.

el |||t

O I'n
Q
®

LY

id

@

Faceplate Type 147MV Faceplate Type 147MV
Round Lens p/n 449BA1 Triangular Lens p/n A449AS1

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Advanced Hall Lanterns for 30-Volt Applications

w/o Remote Station (with Faceplate): Type 6646EE
NOTE: Please call UNITEC for more information and parts availability.

S
Ny
= =
o

=Yy
S =
o ®
—
o=
D @
g @
(7]

G
(W
Faceplate Type 147LT Faceplate Type 147LT
Round Lens p/n A449BA1 Triangular Lens p/n A449AS1

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



=
o3 S
»n ®©
I— )
P —_—
eT
gE
-5
==
=
o.

Hall Lanterns & Position Indicators

w/o Remote Station, Intermediate Landing: Type 6646EB

Part Number  Description
AAA447AC5  Connector
6646EA2 Lamp Bracket Assembly, Brass Color
6646EA1 Lamp Bracket Assembly, Stainless Steel Color
6646AW5 Lens Assembly, Clear Lens
6646AW6 Lens Assembly, Red Lens
102EY27 Marking Strip, 4” long
C8121BB1 PC Board, Power Buffer
P303BB7 Terminal Block

6646AWS5

! / 6646AW6
- 7 6646EA1
i . / 6646EA2

o~
.-'“'EI
J
P303BB7
102EY27 C8121BB1

AAA447ACS5

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

w/o Remote Station, Terminal Landing: Type 6646DY

Part Number  Description
AAA612AF3  Diode, with Sleeving
6646EA2 Frame, Stainless Steel Color. With Lamp (28 V) and Bracket

384MK1 Guard
467AW1 Lamp Holder w/12” Wire Leads
424D2 Lamp, 28 V, Bayonet Base
424D5 Lamp, 35V, For Longer Life but Lower lllumination

6646AW5 Lens, 3-5/8” Dia. w/Clear Filter
6646AW6 Lens, 3-5/8” Dia. w/Red Filter

A8200BE2 PC Board Gong Assembly
6646EA1 Used with Safety Shoe or Detector

6646EAT
6646EA2
. ~ "
6646AW5 / .,

6646AW6 ] T
g e

467AWA

AAAG12AF3

384MK1

==
=)
F
(<)
-
=
(1°]
q
-
%)
o

-0
(=]
«
=
(=)
-
5
E..
(1)
=)
—h
(=]
q
«

A8200BE2

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



Hall Lanterns & Position Indicators

Hall Lantern Assembly: Type AAA23550L

NOTE: Please call UNITEC for more information and parts availability.

——e 34 R-AAAZISS0L

]
(2}
o
]
(<)
vt
[
©

d

©

= Look for this tag inside the box.

Position Indicators

Faceplate Type 147MT
Lens p/n AAA443EC3

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Hall Lantern (with Faceplate): Type AAA6646AAD

Part Number Description
Assembly, PC Board, Gong w/Remote Station 4 and
AAADB200AAA004 Hall Lantgrn/ Buffer BoardgCabIe
Call UNITEC Faceplate
443BK1 Glass (diffuser), Red (for triangular fixtures)
443BK2 Glass (diffuser), Red (for round fixtures)
449BA1 Glass (lens), Round
A449AS1 Glass (lens), Triangular
424D5 Lamp, Incandescent, 35V, 0.61 A (size: S-8)
GCA23550B1 PC Board, Gong w/Remote Station 4
C8121BB1 PC Board, Lantern Power Buffer
124DK2 Screw, Tamper Resistant, Brass, Brushed Finish
124DK14 Screw, Tamper Resistant, Brass, Mirror Finish
124DK1 Screw, Tamper Resistant, Stainless Steel, Brushed Finish
124DK13 Screw, Tamper Resistant, Stainless Steel, Mirror Finish
467AX1 Socket, Lamp

AAA08200AAAO/;
GCA23550B1

o

424D5

467AX1

/l.ﬂ‘l @ ;""L_*"'fi.. -
C8121BB1 i i Wil
”@#'_,T =~/
7 SR
{f £ =
"u, I .-.-'
@"' a 4 4 h
4438K2 o bl G
449BA1 g
/ "-\...'_T.
443BK1 “fﬁ N
Faceplate /
(Call UNITEC) 124DK1
A449As1 124DK2
124DK13
124DK14

-
)
«
=
o
=]
S
=
o
-
=h
S
q
«

© Unitec Parts Company, 2012

www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625

==
=)
F
(<)
-
=
(1°]
q
-
%)
o




Hall Lanterns & Position Indicators

Hall Lantern (with Faceplate): Type AAA6646AAD (continued)

Part Number Description

o g Call Unitec Faceplate, Types AAAT47RW and AAAT47RX

2 '§ 443BK3 Glass (diffuser), Red (for triangular fixtures only)

= - 449BA1 Glass (lens), Round

-dé 'E A449AS1 Glass (lens), Triangular

< : GCA23550B1 PC Board, Gong with Remote Station 4

— .g AAA26800A)JW2  PC Board, LED, Green Light

© 5 AAA26800AJW1  PC Board, LED, Red Light

- n°_ AAA26800AJW3  PC Board, LED, White Light
124DK2 Screw, Tamper Resistant, Brass, Brushed Finish
124DK14 Screw, Tamper Resistant, Brass, Mirror Finish
124DK1 Screw, Tamper Resistant, Stainless Steel, Brushed Finish
124DK13 Screw, Tamper Resistant, Stainless Steel, Mirror Finish

: Faceplate
__~"(call UNITEC)

AAA26800AJW3

449BA1
A449AS1

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Hall Lanterns for Modular Control
Hall Lantern and Position Indicator (with Remote Station): Type AAA6646AAE

Part Number Description

Call Unitec Faceplate, Type 147MV éu -
443BK2 Glass, Red (for Round Shape) =)
443BK1 Glass, Red (for Triangular Shape) g' —
449BA1 Glass, Round Shape -2

A449AS1 Glass, Triangular Shape e
424D5 Lamp, Incandescent, 35V, 0.61A (S-8) 0 =
443CCT Lens = :o

AAA08200AAA005 PC Board, Gong Assembly o

C8121BB1 PC Board, Lantern Power Buffer

ACA26800H)1 PC Board, Position Indicator
124DK2 Screw, Tamper Resistant, Brass, Brushed Finish

124DK14 Screw, Tamper Resistant, Brass, Mirror Finish
124DK1 Screw, Tamper Resistant, Stainless Steel, Brushed Finish
124DK13 Screw, Tamper Resistant, Stainless Steel, Mirror Finish
467AX1 Socket, Lamp

AAA08200AAA005

443BK1

4

,--r""'"ﬂrr:-'
A Faceplate
/Call UNITEC)
I

C8121BB1 / L
443BK2 124DKA1 /
449BA1 124DK2

124DK13
124DK14

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625 n



=
o3 S
»n ®©
I— )
P —_—
T
gE
-5
==
=
o.

Hall Lanterns & Position Indicators

Hall Lantern, Intermediate Landing (with Remote Station):

Type AAA6646AAC
Part Number Description

6646EJ4 Assembly, Lamp, Brass, Brushed Finish
6646EJ3 Assembly, Lamp, Brass, Mirror Finish
6646E)2 Assembly, Lamp, Stainless Steel, Brushed Finish
6646E)1 Assembly, Lamp, Stainless Steel, Mirror Finish
6646EK1 Assembly, Lens, Clear

6646EK2 Assembly, Lens, Red
448AF4 Frame, Bronze, Mirror Finish
448AF5 Frame, Bronze, Satin Finish
448AF2 Frame, Stainless Steel, Mirror Finish
448AF3 Frame, Stainless Steel, Satin Finish
424D5 Lamp, Incandescent, 35V, 0.61A (S-8)

AAA08200AAA003  PC Board, Gong
C8121BB1 PC Board, Lantern Power Buffer
467AW1 Socket, Lamp

AAA08200AAA003

6646E)1-
6646E)4

.

d_;_,d-ﬂ‘" &Ei
.,
<
C8121BB1 E

i

448AF2-
448AF5

6646EK1

6646EK2

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Hall Lantern, Terminal Landing (with Remote Station):

Type AAA6646AAB
Part Number Description

6646E)4 Assembly, Lamp, Brass, Brushed Finish o
6646EJ3 Assembly, Lamp, Brass, Mirror Finish 8 =
6646E)2 Assembly, Lamp, Stainless Steel, Brushed Finish =3 n=>
6646E)1 Assembly, Lamp, Stainless Steel, Mirror Finish g L
6646EKT Assembly, Lens, Clear 5=
6646EK2 Assembly, Lens, Red =
448AF4 Frame, Bronze, Mirror Finish 8 a
448AF5 Frame, Bronze, Satin Finish S‘ Qo
448AF2 Frame, Stainless Steel, Mirror Finish 7,
448AF3 Frame, Stainless Steel, Satin Finish
424D5 Lamp, Incandescent, 35V, 0.61A (S-8)

AAA08200AAA003 PC Board, Gong
C8121BB1 PC Board, Lantern Power Buffer
467AW1 Socket, Lamp

Tt

H/ o e
cs121881” -/

AAA08200AAA003

[ 1)
i _L ..-..
|'. ? HH""-".
1 I"' -
| ™ | /6646EJ4
5-\. f g | '-‘-

6646E)1-

o
'
i
1l
1
1
1
1
1
-

e |

1
=, |
-
e

|
L

467AW1 / / a2

448AF2-

448AF5 424D5 4
6646EK1
6646EK2

© Unitec Parts Company, 2012

www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625




2
o3 2
\n ©
[ =)
D ¥
2'5
%E
-
=
T3
o.

Hall Lanterns & Position Indicators

Hall Lantern and Hall Station Indicators: Type AAA6646EZ

Part Number  Description

449BH2 Diffuser-Mask

A396))1 Housing

443CC1 Lens, Green

443CC2 Lens, Red
ACA26800PL1  PC Board, Lantern, for Red Filter 443CC2
ACA26800PL2  PC Board, Lantern, for Green Filter 443CC1
GCA23550B1  PC Board, Modular Gong
GFA23550D10  PC Board, Remote-Station 5 (RS5)

278HAT Reflector

443CC1

443CC2 O\

\A39GJJ1

ACA26800PL1
ACA26800PL2

278HA1

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Part Number Description
309BN12 Box, Electrical, 5-Gang
AAA447AC5 Connector, Feed-Through, 3-Circuit
AAA447AC3 Connector, Feed-Through, 4-Circuit
AAA447AC57 Connector, Feed-Through, 6-Circuit
A396JL2 Housing

S
Ny
= =
o

=Yy
S =
o ®
—
o=
D @
g @
(7]

309BN12
\

AAA447AC5
AAA447AC3 N

£F A396JL2
AAA00176AAD003 \L?

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



=
o3 S
»n ®©
I— )
P —_—
eT
gE
-5
==
=
o.

Hall Lanterns & Position Indicators

Hall Lantern: Type 6646DS

W/0Gong  W/Gong  Description Mounting Finish
6646DS5 6646DS1 Hall Lantern Horizontal Stainless Steel
6646DS7 6646DS3  Hall Lantern Horizontal Bronze
6646DS6 6646DS2  Hall Lantern Vertical Stainless Steel
6646DS8 6646DS4  Hall Lantern Vertical Bronze

TYPE
6646DS  A6646DS Description
P614AS1 Connector, 3-Circuits
449BH2 Diffuser
147SB2 Faceplate, Bronze with Set Screws
147SB1 Faceplate, Stainless Steel with Set Screws
8200HA1 Gong PC Board (Original Design)
A8200BE1 Gong PC Board (New Design)
A396JJ1 Housing
467AT1 Lamp Socket
424R1 Lamp, 28 V
443CC1 Lens, Green
8200GA1 PC Board, Lantern
278HA1 Reflector
VP-860730 Set Screw, Cone Point
C8121BB1 Switch Module, Semi-Conductor
34 | esssns
¥ | vinTaGE | ¥ 01
| REV EM

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

e e s i
I : C8121BB—1=
| 1

I S

| ¥ [ g

I R ‘ Sg

L ] =2

B T e e i s i — i T e S o d

{—C8121BB1 1 il é%

Il_ TTTT T T T g o

(7]

C8121 BB1|

i |
o |
|
|
A8200BE1 I
|
] VP-860730 @\ |
AAA447AC5
J
| P
| A396JJ1 2
| - “~ 6646D51-
-~ 6646DS8
| ~
; WERTICAL
|
MO T O Tk
IAAA1 47NX8-SS4 -~ Jﬁ"\
laaatanxgBRT N A 7
A
he #

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



=
o3 S
»n ®©
I— )
P —_—
eT
gE
-5
==
=
o.

Hall Lanterns & Position Indicators

Hall Lantern, Slim Series 5 Fixture: Type AAA23550T

Part Number  Description
AAA175ABY1  Conductor, 14 AWG, 250 mm L (ground)
AAA180HH1 Holder for PC Board
AAA23550T501  Kit, Lantern PC Board, Holder, and Transducer. For discrete communication.
AAA23550T500 Kit, Lantern PC Board, Holder, and Transducer. For RSL communication.
AAA274T1 Lens
AAA124HE2 Screw, Tamperproof, M4, Bronze, Brushed Finish
AAA124HE4 Screw, Tamperproof, M4, Bronze, Mirror Finish
AAA124HE1 Screw, Tamperproof, M4, Stainless Steel, Brushed Finish
AAA124HE3 Screw, Tamperproof, M4, Stainless Steel, Mirror Finish
~
-~ 8L o
- A \
- . Il
- | '1‘.__ |
- T,
- | % :
AAA124HE1- I T
AAA124HE4 2 JEAN SN )
O
AAA175ABY1 ] |
\ ) .' -
% . . = -
- \
AAA23550T7500
AAA23500T501

AAA180HH1

AAA274T1

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Hall Lanterns and Hall Position Indicators:

Type 6646CY = AAA6646FA
S
=
=2
| 34]|R - AA“E645ER] S &
Look for component tags like these 34| A - AA6646ES] g %
34 R - AA"B646EV] e
W/O 34| A - AA"6646EX ] g" :o
VINTAGE S
[34]R - Aa‘esacEY] @
ABBAECY | 34| R - AA 6646FA |
VINTAGE | Yo
| ]
34| ABEASDS

|
VINTAGE | Yoi |
]

|
AB8460T
VINTAGE | Y01
|

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



Hall Lanterns & Position Indicators

Hall Lanterns and Hall Position Indicators:
Type 6646CY = AAA6646FA (continued)

Part Number  Description
Assembly, Combination Hall Lantern & Position Indicator, Horizontal Mounting, w/Gong

- AAAGGAGFAS PC Board and w/o Faceplate and Wall Box
1 . .
od © Assembly, Hall Lantern, Horizontal Mounting, w/Gong PC Board and w/o Faceplate and
i AAA6646FAT Wall Box
S0 — , - ,
== AAAGGA6EA3 Assembly, Position Indicator, Horizontal Mounting, and w/o Gong PC Board, Faceplate,
e c and Wall Box
© : Assembly, Combination Hall Lantern & Position Indicator, Vertical Mounting, w/Gong
; .g AAAGGAGFAG PC Board and w/o Faceplate and Wall Box
m " — . .
£ 9 AAAGEAEEAD Assembly, Hall Lantern, Vertical Mounting, w/Gong PC Board and w/o Faceplate and
a Wall Box
AAAGEA6FAL Assembly, Position Indicator, Vertical Mounting, and w/o Gong PC Board, Faceplate,
and Wall Box
AAA6646FA1
AAA6646FA2

AAA6646FA3
AAA6646FA4

Type AAA147NX
Faceplates AAA6646FA5
AAA6646FA6

Type AAA147NXY

NN

AAA6646FAS

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Part Number Description
AAA447AC5 Connector, Feed-Thru, 3-Circuit
AAA447AC3 Connector, Feed-Thru, 4-Circuit 'QU
AAA447AC57 Connector, Feed-Thru, 6-Circuit 73
—f
.
=
=
A8200BE1 2.
o
2
AAA447AC5
S 5
AAA447AC3
N
AAA447AC57
\
Type AAA147NY Faceplate

© Unitec Parts Company, 2012

www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625

Q swiajueq ||eH




Hall Lanterns & Position Indicators

Hall Lanterns and Hall Position Indicators:
Type 6646CY = AAA6646FA (continued)

Part Number  Description

449BH2 Diffuser, Lantern

) A396JL2 Housing. For Combination Hall Lantern and Hall Position Indicator.
g S A396)J1 Housing. For Hall Lantern or Hall Position Indicator.
28 AAA275CH1 Insulator, Bracket
o= 443CC1 Lens, Green
= 443CC2 Lens, Red
3s 278HAT Reflector
T =
T3

Q. ?/AAA275CH1

|

\AS%JLZ

A396JJ1

>\ Vertical Mounting Shown

Type AAA147NY Faceplate

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Part Number  Description
424R1 Lamp, 28V
8200HAT1 PC Board, Gong w/Audible Alarm (used in systems July 1981-June 1984)

-
A8200BE1 PC Board, Gong w/Chime Speaker(used in systems July 1984-Current) 2. n:la:
8200GA1 PC Board, Lantern g‘. —
ACA26800PL2  PC Board, Lantern, LED, Green lllumination. Used with 443CC1 Green Lens. =
ACA26800PL1  PC Board, Lantern, LED, Red lllumination. Used with 443CC2 Red Lens. 5 =
ACA26800H)1  PC Board, Position Indicator =
467AT1 Socket, Lamp 8 3

=h
8200HA1 5 Qo

A8200BE1

ACA26800PL1
ACA26800PL2\.

467AT1

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



Hall Lanterns & Position Indicators

Hall Position Indicator Assembly: Type AAA23600P

NOTE: Please call UNITEC for more information and parts availability.

2
o3 2
\n ©
[ =)
D ¥
2'5
%E
-
=
T3
o.

|34 R-AAA2IE00P

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

Landing Fixture—In-Car Lantern Assembly: Type AAA23550U

Part Number Description

AAA180HD1 Holder
AAA23550U500  Kit, Board with Transducer (AAA655D1) and Holder (AAA180HD1), for RSL
AAA23550U501  Kit, Board with Transducer (AAA655D1) and Holder (AAA180HD1), for Discrete

AAA443ET6 Lens. Used only for brass mirror and brushed returns.

AAA443ET4 Lens. Used only for stainless steel mirror and brushed returns.
AAA26800AKNT  PC Board, Discrete Lantern
ABA26800AGL1  PC Board, RSL Lantern

AAA655D1 Transducer, Communications

==
=)
F
(<)
-
=
(1°]
q
-
%)
o

-
)
«
=
o
=]
=
=
o
-
=h
S
q
«

L] 1“ &
t -
gt ABA26800AGL1
il AAA26800AKN1
[ ]
L ]

\AAA23550U500

AAA23550U501

S
il

AAA443ET4
AAA443ET6

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



=
o3 S
»n ®©
I— )
P —_—
T
g.E
-5
==
=
o.

Hall Lanterns & Position Indicators

Pictorial Catalog: Faceplates

All faceplates depicted in both illustrations and tables depict the pan type faceplate. If flat type
faceplate is needed, choose the correct lens configuration you need from illustrations and indicate
that you need the flat faceplate. Specify brushed stainless steel or brushed bronze. Mirror finish is a

special order and longer lead time—please ask UNITEC for more information.

Note 1: Top level arrangements are generally not available, but may be quoted as special. Refer to

index on pages 52-53 for more information.

Note 2: “Faceplate assembly” is a faceplate with the lenses as well as a synthetic light shield mount-

ed to back of faceplate.

¥ H
e i

Part Number  Description
6646F Top Level
6646P Faceplate Assembly
i A147ENT
: A4TEN? Faceplate, Pan Type
A449AA1 Lens
£
L
i |
E I
1 H_._._,_.-—'_III| i—\-\.
S
R T L e i)

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

S
= =
2.9
- 45 in - o=
5in. i S c
| — O ——
l | —
| = ==
A 111N o) S o
I P 1T LT T T W = § =p
1 - S
Iy ;r L:I Hl 7]
I il |
I ]
|
, |
|
|
| i
|
[ Part Number  Description
I 6646) Top Level
i : 6646W Faceplate Assembly
v N i A147EK1 Faceplate, Pan Type
= 1 ' A449AA1  Lens
| :
| |
| |
| i
:
1
I
| |
| |
|
|
|
|
)
I .
' I
I I
. I
! 1
, TR e e e )

© Unitec Parts Company, 2012

www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



Hall Lanterns & Position Indicators

4 45 In—m—p
S
g S |
v © S )
= + fi' .. !
ez b} LALLM L |
S = T o o
F 17 30 o
E :E | : ‘I _.-'.‘-"'.\" : :
T8 '. iE" |
Q. i \ :
.' \ l
| , !
| ot L
! / Q l
: I
I _'_._,_,—'—"‘\- i
| ANk |
| , | I
g | - Part Number  Description
o |l I 6646A Top Level
— | I 6646AA Faceplate Assembly
: ! A147EP1 Faceplate, Pan Type
I \ I," ! A449AA1 Lens
: | | | e |
' |
! |
I |
[ |
' |
|
! |
1 |
- |
1
' I
1 I
] |
i |
- |
L IR O bt il b, 3

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

] O
|< 4.5 in. b‘ o —
i L.
& i‘-’"'_""';; ''''''' ' ==
- © -
I = - aQ
.—1I;|._:'r —————————— —|-..|JI:“-— 5 3
| il e S SLTLTRORE MY ': E- 2
|. : & | 8 a
f |r-.\__ I —p
: (=)
| III 7 >
{ \
i
: ! Part Number  Description
-f 6646H Top Level
= | 6646Y Faceplate Assembly
= A147EJ1 Faceplate, Pan Type
A449AA1 Lens
/;? I
‘_,-'"""/Fd w"-'i
H"“mh s
HH'\-\.._H |I -
| S d
y )
I
II

© Unitec Parts Company, 2012

www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625




=
o3 S
»n ®©
I— )
P —_—
eT
gE
-5
==
=
o.

Hall Lanterns & Position Indicators

- 45in—»

Part Number Description
6646D) Top Level
6646DP Faceplate Assembly
147KH2
147KH3 Faceplate, Pan Type
449AY1 Lens
Part Number Description

6646D) Top Level

6646DP Faceplate Assembly

147KH1 Faceplate, Pan Type

449AY1 Lens

© Unitec Parts Company, 2012




147KG2 Faceplate, Pan Type -cu
449AY1 Lens 2.
=
=
=
=
o
Q
—p
(=]
q
(%)
£
-4,
=
Part Number Description
6646DH Top Level
6646DN Faceplate Assembly
147KG1 Faceplate, Pan Type
v o R e AP e ) 449AY1 Lens

Hall Lanterns & Position Indicators

Part Number  Description
6646DH Top Level
6646DN Faceplate Assembly

=y

e

© Unitec Parts Company, 2012

www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625

==
=)
F
(<)
-
=
(1°]
q
-
%)
o




=
o3 S
»n ®©
I— )
P —_—
eT
gE
-5
==
=
o.

Hall Lanterns & Position Indicators

- 4.5 in .
A - e N
1
I == F"""—“—$:———-'| = I
: -, SNSRI i 1 | __Part Number _Description
- R = 1 6646AK  Top Level
T Bl 6646ANT
: " - N CELEAND Faceplate Assembly
| | 147)M2
: ; 147)M3 Faceplate, Pan Type
i ! 449AS1 Lens

=
L]
i
=
Part Number  Description
6646AK Top Level
6646ANT
6646ANT2 Faceplate Assembly
147JM1 Faceplate, Pan Type
449A1 Lens
Y
-
\, )

m © Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

A
: Part Number  Description
: 6646AS Top Level
I 6646AR Faceplate Assembly
' 147)R2 o
: A147JR2 Faceplate, Pan Type gl n:la:
| ==
449AS1 o =
| (=]
Iu _ Ad49AST e s 5
: = =-=
i =
. | =5
| | 0 =
I i 'ﬂ_:. (7]
| |
. . S @
1 | »
e [ i
- | |
~ | [
(=] i I
T B |
| [
| |
| ]
| — |
' .‘
I '
[ i
l I
| I
1 [
1
1 [ |
i : Part Number  Description
: : 6646AS Top Level
1 [ 6646AR Faceplate Assembly
] [
-. 147)R1
|
. : A147)R1 Faceplate, Pan Type
! il 449AS1 Lens
, M T R e e e ) A449AS1
b )
/\ \ |
hY /
/ \ \
\ \
,, A\
b PR : e s

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



=
o3 S
»n ®©
(X}
P —_—
eT
gE
-5
==
=
o.

Hall Lanterns & Position Indicators

-}

e

10.75 in.

L]
]
i

=T T
Wiy
Ay

:
l-hlllllllllllll..l Ii.l.l.‘lll-

- el

--I-‘-:;ll
b o

N ]

T T TSR eSS T T e ey A

-
i

=l

Ul '

"l-.--.q-—--n--——------n e e e e el LS o o o e e e e S W e e e e e '
Part Number  Description
6646AG Top Level
A6646AD Faceplate Assembly
147EG1 Faceplate, Pan Type
449AM2, Lens
449AM3
- 10.75 in. -
=1 0 “"E‘“"““‘_:_'_'_‘_:_‘,l“""“"-:‘ '
s T
£
e I
L] " ]
] ] 1
i : 1
i 1lie
I
RS - IS
1 i [ '
[} I []
;o
P
g
il [
e R
—a_1_L_L L LE L ELLIIL 5 1 1L § 4 - .= - S e e e T LA 4 N N F ———_—————"Il! T

Part Number  Description
6646AH Top Level
A6646AB Faceplate Assembly
147EH1 Faceplate, Pan Type
449AM2 Lens
449AM3

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

S
' =
i " 2 &
I ' sl —
I | B
I S 5
| r 292
I I 0=
| I A
I i S &
| | (7]
|
I 1
' i
| i
| |
1
! i
i I Part Number  Description
= | : 6646DM  Top Level
= | 6646DR Faceplate Assembly
= : F 147K]J1 Faceplate, Pan Type
| : 449BAT Lens
[
I |
I |
|
| i
I [
I
I
I
|
|
I
|
I
I
I
I
I
I

i e

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



Hall Lanterns & Position Indicators

Hall Lanterns &
Position Indicators

Part Number  Description

6646DM Top Level

6646DR Faceplate Assembly

147KJ2 Faceplate, Pan Type

449BA1 Lens

m © Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

OO TR, ~ b

Ny -
AL a g Part Number  Description & n:la:
i W3 6646AW Lens ==

o o
i . = i - 5
Color” || U S =
Glass |€ g = §
il 5y .-'f T
LIl < ! g oo

- - ] -—

e 7

s

Part Number  Description
6646BA Top Level
6646AW Lens

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



Hall Lanterns & Position Indicators

Part Number Description

6646AW Lens

1
=,
E\
r I-I '..
L L
2.895%m

2
o3
R
)
-]
R
gE
=5
==
T8
o

“‘L Part Number Description
inrdl 6646AY Top Level
L 4l 6646AW Lens

© Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

i- 45in -

V% -
i i s
e ¥ = 0
:. rl!lllll'lrll“‘--“““MT'ii gl;
1R b il y
i | — =
: : o @

! —

i I 0=
| | 2 %
e : 3=
| |
I :
i i

2 F - Part Number Description

| : 6646T FP. Assy

ot '! : A147ERT Faceplate, Pan Type

T [i : 449AE2 Lens
' - 449AE3
] i
i :
- i
i 1

i

; i
i i

Y e M
i Y,

© Unitec Parts Company, 2012 www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625



Hall Lanterns & Position Indicators

- A
oJ s "_@:“""'""'“W"
) i 5
2 8 2T BFw TEEFLEET
S "
2T
e =
S5
==
T8
o
_ Part Number Description
g 6646B Top Level
- 6646R Faceplate Assembly
= AT147EST Faceplate, Pan Type
A449T2 Lens
A449T3

m © Unitec Parts Company, 2012



Hall Lanterns & Position Indicators

| 2% |
r— —— i i _ - e i o
=
B HE3 = 2l {
| i 1'\ “] 1 -E'
| | — =] I a3
l-—l'll' | - =
Shl4a 12345 X : B
|| e 19 % B
| T R S e — = — ]| 1 E
' | =
A 28z Wall Box - I
o
FRONT Type 6770A Indicator 2
=
7
Spare Parts
Part Number Description
Base Assembly, 2 Terminals &
6644A3 74G2 Nut
Type 311B  Bell
A449W3  Glass, White, 24 in. Long
424C1 Lamp, 11.75in. Long, 40 W
424H1 Lamp, 120V, 0.025 A, 3.0 W
2226A1 Receptacle, Lamp
6644A2 Receptacle, Lamp

© Unitec Parts Company, 2012

www.unitecparts.com 1-800-328-7840 Fax: 860-286-1625

==
=)
F
(<)
-
=
(1°]
q
-
%)
o




[ENRETE << ‘ asor99 | NWa9%99
199¥99 JleIpawIau| << LVa6hY DILvL v 209199 A99¥99 ¥l 3uipnnold
O I I << LIZYL | ¥A9+99 | WA9+99 uey punoy
EIEENAE] <«<< LY L J4aor99 | MNA9Y99
[euIIa] . g909%99 | [99+99 e
339799 SEPAI | 0o ¢ | NPV igov99 [ Haoros | M Moy
V9199 dje1pauayy| . ‘TAV6YY | LHALYL | 9v9¥99 | HV9I99 vey U0JASYD
[eulwJal ZROEVA4R avovr9o9 OVIT99
|euiwa| A%¥H w | X99¥99 | 999+99
e
159799 Jleipowial] | A% H WILVL 'V = Ra9v99 [ 499%99 e
IGEry Bm_‘.m_oh__,_wé_ _Mw"tw> LSVERPY NW_EN_F vV | 4V9¥99 | SV9¥99 oduen]
1V9P99 EIEN RN ETILYL | NVOY99 | JV9¥99 ueg
J)eIpawJaul | |eJUOZIOH LAl LV | dV9¥99 | SV9¥99
leulwJo] | [eIUOZLOH LATZZ L | NV9¥99 [ V999
AN A% H w | 199v99 | 399¥99
e
399v99 SeIpowRI] | A H PILVLY ya9v99 | agore | M
J)eIpawJalul | [edNJoA LAvepy | CLYL | NG9¥99 | HA9¥99 MoLIY
V9599 | Lygepy | IEUWAL GRIEN CTHNLYL | da9¥99 | [a9v99 ue llejueq
J)eIpawJalul | |eJUOZIOH LONLFL | NA9+¥99 | HA9%99
leulwJol | [e}UOZLOH LHZYL | da9v99 | 1a9r99
SERENEN A% H o« | d99¥99 | 299%99
e
399799 [eUIWII3] AZH PILVLY —Ngor99 [ aaoree | W
J)elpawJalul | [edNJoA dIZvLV | WW9¥99 | V9799
LYV6T Y 4
|euIuIaL [ed1JaA o INIZVL | d9¥99 | 49+99 MOV PAS
4v9¥99 v Ued
J)eIpawJalul | |eJUOZLOH [ArLY [ A9¥99 H9%99
[BUIWIS] | [eIUOZLOH MALYLY | MIY99 [9%99
p On._h.—. pulyeg Oﬁh._. 0&%.—. 0n—>.—.
|quiassy Suimeasqg | Ajquassy Jlhis
sse|9 uoneso uonejualQ | Jo ued Alquassy 91f1s suai
qing 3 ajejdasey | ppoIys ¥ ajejdasey
paJojo) sua |[2Aa1 dog
aseg sing d)ejdasey

$10}e3Ipuj uon}isod

R suiayue |IeH

sa)jejdaoeq :3unsiy xapu|

© Unitec Parts Company, 2012

50



Hall Lanterns &

Position Indicators

) oy
Aepowsow| | BN | ) Ly | SILVL 49199 49+99 Suipnnoid
4V9¥99 ued
9lelpawIdu| eIV L& REVA4D 19499 95pam i
. . qavery 3uipnnosd / /
J)elpawIau| | |eONJIA z e ok AV9¥99 | SIdzeg urdeus | A
e [BONJOA | LMVIY99 s . va9¥99 | Ppunoy - 9s1g H |
d)elpawJau| | |euozIioH % e e AV9¥99 | 9|qerow papasu| et
EVEND [eIUOZWOH | ‘EMV9199 sk sk V4999 -9y-UON punoy Z
JjelpowIaju| | [BONJOA 2dJ9¥99
Jjelpawsau| | |eJUOZIOH LdJ9¥99
4 ¥
eulwJd eJI3 ; . e MOJIY P}
U] [BOIIOA | WVEVIY | ¢ \oiut | enqgpgg | NOIP99 H v PIS
4
eulwJa ejuoziJo
|euIwIa] |e}uozLOH ‘LAI9P99
3jeIpawsa| << D9+99 Suipnujol
X299 P vaery | nrl HO9Y99 | e i ()
UNET <<< AI9799 punod _.fl\
JjelpawJalu| | [eONJOA ZND9+99
d)elpawJal| | |eluozioH LIND9+99 .
¥
eulwJa ed1J9 e 9|3ueu
VTNET [BOOA | SVEYIV | AUVL | (oi0 oo | DI9V99 1e)4 |Sueu /
z
eulwJa ejuoziyo
acyy |euIwIa] |eyuoziioH ‘1199599
unox) Y311 Suppeg pieog NN /M saIMXI4
p 0n_>._. puiyog QA_Z._. On_h._. 0Q>P
|quiassy Suimeasg | Ajquassy Jllis
sse|9 uonesn] uonejualQ | Jo ued Kjquiassy 9jM1S suaq
qing % ajejdasey | ppoys ¥ ajejdasey
paJojo) Sua |[oA91 dog
aseg sino dejdaoey

860-286-1625

tecparts.com 1-800-328-7840 Fax

www.uni

© Unitec Parts Company, 2012



Notes

$10}e3Ipuj uon}isod

R suiayue |IeH

© Unitec Parts Company, 2012

52





